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Cryid : 3 wenfl | [ Qurgg wHubluearger : 150
Time Allowed : 3 Hours | [Maximum Marks : 150
Sleyenr 1 (1) yoarss farssEpd sfllurs udeard o drergr eremusmer

Instructions :

GO

Note :

GOIoyY : (i)

Note : (i)

sflurisgs Carararab. LUl Gapul@muilear < mns
sansrentliurerflLb o Langurss GsfellsEseb.

(2) Beoib ez smLL enulenar I HCL erPgusHEGL LWaTU(HES
Ceuar(Md. UL migeT euemyeugm@ Guemfled LweTLHidseyL.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, informthe Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

UG8 - 1 srauredlumaub, uGd - I dlomdumaub sefsse
allenL_gsrafler ellenweafléEsea,Lb.
Candidate should answer Part - I (Botany) & Part - II (Zoology) in separate

answerbooks.

U@ - I (sreurellwiev) / PART - I (BOTANY)
(LAUGueRTSET : 75) / (Marks : 75)
Yifley - = / SECTION - A

SIS G ellaTEHEpSGL  aflenLweflEse . 14x1=14
sflwurer el mws CsibOsH58 6T(pss.

Answer all the questions.
Choose and write the correct answer.
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~ar

@Qran® LGrrCLrAearrev@safiien G Qenemeneu 2 eHrL_Té @0 @\ ewenta|

Grient :

(1) wrad mE&Coen Slenenssmed (=) Lred) ergdlader SleparésTe
(@) uredl elenared GCerreny(H () urevurfls rsCaen

Two protoplasts are*fused with a fusogen called :

(a) polyethane glycol (b) polyethylene glycol (PEG)
(c) polyvinyl chloride (d) phosphoric ethane

eeupeuanaupmier euruyflenaoufigyerar apriCGiomer?

(1) sangen (<) Slwmge (&) ergdlaben () p&blen

Which of the following is a gaseous hormone ?

(a) Kinetin (b) Zeatin (c) Ethylene (d) Auxin

eféaud sreursden @ Qarmh GuUwi :

(=1) SisTedlur @\ehmig&m (<) gdled wribleomsn

(@) feav GaurlriiGenitley (/) enwGUreT L&
Binomial of vilvum is : /
(@) Acalypha indica (b) Aegle marmelos

(c) Cissus q;;adrangularis e (d) Mimosa pudica

Hoss_moudd yssr Crruimean 2 maurs@n Cpmi 2 ulfl erg?
(<=1) QarCarevGumyr, QuisGarLr (<) euflgCafiur arGes

(@) srpCsrGomenmen &L () smCrr eeurev
Which pathogen causes Tikka disease of groundnut ?
(a) Cercospora personata (b) Pyricularia oryzae
() Xanthomonas citri (d) Tungro virus

»
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B sTETILHL UTEIGONT SHEDSET :
(=) pERs@Lbsma, HPbsmal

(31) R(HRIS®LHSE®E, (LPlgULIDal

(@) Auss prEsLbEEMa, SDbE®a
(FF) @@I‘EJ&SGDLD‘&')_&_BGDG;U, CTHEUTTE

The vascular bundle in the leaf is :

(a) collateral and open

(b) collateral and closed

(c) bicollateral and open

(d) collateral and exarch

Spoduredled sramiuin @Gedlamasafen crewremflaens :

(1) 5 (<) 10 (@) 15 (FF) 20
The number of carpels found in Althaea is :
(@) 5 (b) 10 (c) 15 (d) 20

LCarmwib LrFeensLoT @&l SremriLLTS

(=) QLACarrenu_(Haar (=) BbCarmev@uiibser

(@) em dsHmes greugmser () Qm csHeveg Freurmhiser
Phloem parenchyma is absent in :

(a) Pteridophytes (b) Gymnosperms

(¢) Monocots (d) Dicots

Aaseo Cargamen sl el&gd :

(2):31:71:1:1 (B)7:1:1:7
(@) 1:7:7:1 () 9:3:3:1
The repulsion test cross ratio is :

(@) 1:1:1:1 by 7:1:1:7
() 1:7:7:1 (d 9:3:3:1
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10.

11.

12.

4

iy evdlCerrGr euflensufed 2 emar wpeppseT LHMID GHibUGISNET craaTarlsams
wpenpGw :

(1) 4 LOMID 23 (=) 6 LHmLD 34

(&) 5 wpmd 27 () 3 wHmb 12

The number df orders and families included in the series disciflorae :
(a) 4 orders and 23 families (b) 6 orders and 34 families
(c) 5 orders and 27 families (d) 3 orders anid 12 families

Gyevig fgsen Aprd Qeupmred 2 HusH QelwiiuGHng :

(=) urslelwriser wL_HId (=23) rev(Hw, urseflwre)b
(@) wlsAGur 4s Qedsar (FF) Simasg euensd Caeser
Restriction enzymes are synthesized by :

(a) bacteria only (b) yeast and bacteria

(c) eukaryotic cells (d) all kinds of cells

LEmsLgdlen 2 HLSHESE Comeuiu@n wsSw Qumrmer :

(<=1) Mg (<) Fe (@) c () Mn
The essential component for the formation of chlorophyll :
(a) Mg =~ (b) Fe () Cl (d) Mn

20 PosEan GEpsCara wuyebwrer wsAnCannsddar Curg
QevefliLBsgIDd <ppmeSlen ojeray :

(<=1) 1600 kJ (<21) 2300 K] (@) 2500 kJ (FF) 2900 K]

The total amount of energy released from one molecule of Glucose on Oxidation is
about :

@) 1600 kJ (b) 2300 kJ (€) 2500 kJ (d) 2900 kJ




5 3636
13. DNA efler @i e &mar wrdflenw eferddlweur :
(=1) eurl_gen womib &fs (<) O.T. greufll wHmID Gpeleoi
(@) HNu9s (/) eviger QuTs
Double helix DNA model was proposed by :
(a) Watson and Crick (b) O.T. Avery et al
(c)  Griffith (d) Stinberg
e 14. Q@ QerpQuuA® wperperw SPlpsliu@sSwer :
(=1) sCrmeven 6dlGamnue () srevur® LiTabler
(@) ef Cmrel LreLear ap©ssT (FF) SILTOU GrhieTT
The botanist who introduced binomial system is :
(a) Carolus Linnaeus (b) Gaspard Bauhin
(c)  Sir Joseph Dalton Hooker (d) Adolf Engler
ey - gy, / SECTION - B
@MUY . aCaenib e elamss@ps@ LB e weflésayb. 7x3=21

Note : Answer any seven questions.

15. wroCeudl sraifmsEnd, o ared sreufnadr gpahler @@ Gerh Guwflaer

GO B s.

Write any three binomials of food plants of Malvaceae.

16. LCrm_CLrense @ent_Ceuafl eremmmed eresen?

What is a protoxylem launa ?

17. GsreCadl @Hbusdear cumsliLTl () Blaoulmar erpgis.

Write the systematic position of solanaceae.

[ Sisliys / Turn over
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18.  SeLGermwib prfler UL euanybg LTsRISmET @ D).

Draw and label the structure of phloem fibre.

19. uredlesn @&CrmoGsmitler LL b cuerhg Ursmsamar efleufl.

Draw and label the structure of polytene chromosome.

20. gail Glae Lrsb erammmed ereman? THSGISST_ (NS S(Hs.

What is SCP ? Give an example.

21. e FTH(MHSSID TEIDTED GTETET?

What is soil reclamation ?

22. Ceudlé Gsirsens cuanrwigy.
Define chemosynthesis.

-
L

23. Gumebigm cuenywim).

Define bolting.

2. @ailé saurssdpEL, @@L surssHneb o drer Caumur@amers &(ms.

Write the differences between photorespiration and dark respiration.
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Yifley - @ / SECTION - C

&My : (i) e1C5em)10 H6uT(S) eflenméa emés, eflenL_wef&seyb. efenr ereir 25 &

saniq LiLrs ellenl weflés Geuamr(pb.

(i)  Cgeenwurer QL isefd UL b GUEDTILIGLD. 4x5=20

Note : (i)  Answer any four questions including Question No. 25 which is compulsory.

25.

26.

27.

28.

29.

30.

31.

(i) Draw diagrams wherever necessary.

Bluyevm oo FreuQearar sreurtisalean Cu o drer Coaupur@samer erpg)s.
Write the differences between Musa and Ravenala.

Boeisdons srer Gaauder GOIEG el Bs Comppgens LLD auanypsy
LUNTSRIGET G0l&s.

Draw and label the parts of T.S. of a Dicot leaf.

srours Fla eueriiGem g liLeL é SMSgIsmer oflandEs.

Explain the basic concepts of plant tissue culture.

Galifugend Gilss An GHliy erss.
Write short notes on vernalization.
Caanriudlen seursoma) 2 UIenal aﬁlmé;@a

Explain Ganong’s respiroscope experiment.

SL-88| RNA (tRNA) Sienioliy uodl Ay GHY erapgis.
Write short notes on tRNA.

Cgsdlen Qummerngry péElwsgieusms erpss.

Write the economic importance of Teak.

[ pLius / Turn over
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9fey - /= / SECTION - D

[

Gluysst : () gCsemd Grevr® AersseséE eleLwaflése,Lb. 2x10=20
(ii) é‘ég,ma.lmrrsm QL msafled) LLLD euenjuaLd.

Note : (i) Answer any two questions.

(i) Draw diagrams wherever necessary.

32. fAedlarev sbwelev sraursdman smws derpsadr qab aflefl. weiflem
QUETLIL LD GUENTHEl GUMLLILITLGOL. GT(LPSIS.

Describe Ricinus Communis in technical terms. Draw the floral diagram and write the
floral formula.

33. aurev@ont Has QsrElenu efleufl.
Describe the vascular tissue system.

-

34. sreuriusaiie YCrTL CLMAaTTs @eammay (p@LD eTeuaTH 2 L6 soULlanoTsgse
Papdng eramuemg eSeurl.

Explain as to how protoplasmic fusion can bring about somatic hybridization in plants.

35. sraelar spnd LHD @@ ST awas. (laTEsh SDwg) GUENTLIL_LD)

Write an essay on Calvin Cycle. (Flow chart or explanation)
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u@S - 11 (efleorsdlwev) / PART - 11 / (ZOOLOGY)
(wHLQuaTsET : 75) / (Marks : 75)

9fley - =y / SECTION - A

GOy : (i) Svesg damssErsEhn elen welsseb. 16x1=16

(i) esflwrer elenmws CobOsHSS 6T(HSaL.
Note : (i)  Answer all the questions.

(i) Choose and write the correct answer.

1. Gsenseoy o (heurdss SamHL @eurevsar :
(<=1) Cpmi Qgrom eeurevser (<) enCarblmalls eauravger
(@) umyT eeurevGET (rr) GouflCwirerr eveurevs6T
Cancer inducing viruses are called :
(a) pamogenid:‘viruses (b) oncogenic viruses

(c) para viruses (d) wvariola viruses

2. Yeneuheuanoupmer eThs Qe HrepemLsald o @ T@h meaure Cril ?
(=1) Aer_rQuevl. (=) wrevigenL 6 (8) engyréev () sTeCBT
Which one of the following is a viral disease in Cattle ?

(a) Rinderpest (b) Mastitis () Anthrax (d) Tuberculosis

[ mliys / Turn over
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3. Wemaumeuareupmiar erg Qurgieurean srey Lasdlng S eumeug) ?
(<=1) gCarimid #1CGou aufengasar (=) euflene sHeny @\_riser

(&) RNA gre| yokiser (FF) yrsriseflen eamioliLser
Which one of the following comes under generalised databases ?

(a) Genome Sequence Survey (b)  Sequence Tagged Sites

() RNA ‘database (d)  Structural organisation of protein

4.  Qsriibg isTsmras WBC eramanflsans @faMieus GOILILg:

(31) SiafBwr (=) urellenssS Bl

. (@) eusBur () lwsCamQefur
Progressive increase in abnormal WBC count indicates the possibility of :
(@) Anaemia (b) Polycythemia
(c) Leukemia (d) Leukopenia

5. Opmésly sre anriGuorer eraruiL(Heug)

(1) en9QmLiMer (<=4) smirg Camren

(&) mri- er9QpLifen (7F) G revieymen
The emergency hormone is :

(@) epinephrine (b) cortisone

(c)  nor-epinephrine (d) aldosterone

e

6.  SCID Gprigsmen gen DB HLILIE, :

(1) 18-aug) GCrrCLrCsrid (=) 19-eug GCrrCuwrGsmid
(8) 20-eugy BCrTCLICsTD () 21-eug @CrrCuwrCsmid
The gene for SCID is located on :
(@) Chromosome 18 (b) Chromosome 19
(¢)  Chromosome 20 (d) Chromosome 21
(4]
»
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smeEGETTa) THUL & STraud :
(1) sensuller ElevaraCGameer jaray GMDSD
() gowss Qawser @nése
(@) semes Gl
() 2l e e Qsmaveen sréardmsse
Muscle fatigue may be due to :
(a) muscle glycogen depletion
(b)  deéath of muscle cells

(c)  muscle pull

(d) non secretion of acetyl choline at muscle

Qpduirellen QumisL <1Hnes)mibs Wengsdl swrfliiyé Qaiun e Speme
2 (Heur&sLILL (HeTer @L Lb.

(=) Qaréflen (<=4) sredlas_ (@) flPErsd (FF) SmLen@erid
India’s first ocean energy power plant is situated at -

(a) Cochin (b) Calicut ()  Vizhinjam (d) Koodunkulam

=

gl e flwgdelmbg euas Ceuatmy Asdl@réE @rasin QeQISsLILHS® ergeTTed
ETURSSLILGEDE ?

(21) Geop sy curdveyamar (=) epailp aurévay
(@) s eurdey () el yéd eurdey
The blood flow between the right atrium and right ventricle is regulated by :

(a) semilunar valves (b) tricuspid valve

(c) bicuspid valve (d) mitral valve

[ H®BLys / Turn over
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10.

11.

12.

13.

12

ey Qeligd sipemeu fldlsme (papmen sl bseuT wm?

(1) @il urevEsT (<) CepreL SlavL it
(@) @rrui’ GCaré () Lmirelles

Who discovered a system for antiseptic surgery ?

(@) Louis Pastf..-ur (b) Joseph Lister

(¢) Robert Koch (d) Darwin

Qemeumelamaupmier ergl SGfésd Garams Camfl erariuBhSlerng)?

(c_:‘m) By, anrbenswi (<) sTTEflcy

(@) G&Lssev (FF) <pEVLFTeommLy
Which one of the following is an American breed of fowl ?
(@) New Hamshire (b) Cornish

(c) Sussex (d) Australorp

enaupeuameupmier erg Lreedlane GHmL?
(1) YCers (=) edLumi (@) &dedlev (FF) &meoym
Which one of the following is a sexually transmitted disease ?

(a) Plague - (b) Typhoid (c) Syphilis (d) Cholera

Qeuliué sr@seaie wrhsalear WaFHss CoTsEmasS p&HwTsl Lweru(heg)
(1) DB LEElEar (=) 2 TdlL Caatsser
(@) enpCanmélymen cuenm(Haser () LTHD UDEEIGET

Which one of the following organisms plays a vital role in pollination of trees in tropical
forest ?

(a) Moths (b) Orchid bees
() Rhinocerous beetles (d) Humming birds
»
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L]
15.

16.

13 3636
emaulL e Blwdler @enpur_Lré Caremmeug :
(=1) vl (Hssereno (=4) GanwCrsy (@) Queesymr (FF) evsiredl
Vitamin Niacin deficiency causes :

(a) Sterility (b) Haemorrhage (c) Pellagra (d) Scurvy

r@euev Qensdler wenGenry 2 udfl erg?

(<1) @ () sWps

(@) manyCarsSuwin () <rsHCGumlgféen
What is the ancestral form of Equus ?

(a) Horse (b) Donkey

(c) Hyrocotherium (ci) Archaeoptexix
veardluilellmbg wallsaise e iy @6 G]Euil;lrli‘llllu@ajgj - DBENE 2-STTeRTLD
(1) L CLrdlyml (<=1) Sie0Cardlymsl
(@) gCer Symel () QgCeorm &ymoalil
Organ transplantation from pig to human is an example for :

(a) Autograft (b)  Allo-graft

(c) Iso-graft (d) Xeno-graft

[ $ipliyys / Turn over
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Ty -
\9fey - o, / SECTION - B
GOy : sremeuCuenid 1@ NaTESEHEE @ o wall&se|w. 8x3=24
Note : Answer any eight questions.
17. ppilu Beruird UT®SsS FenL GBmil GTamrey eTeqen?

18.

19.

20.

21.

- 22,

23.

What is chronic obstractive lung disease ?
srg CaammeLsame ppET STTEMBRISET SHS-

Give three reasons for the loss of hearing.

erii_ev Crrepwid SETLBHlUID (pEDEMmAT eflaufl&saL.

Fnumerate the methods of diagnosis of AIDS.

@bl'_(&,rrﬁgrr:oumrsﬁl@{_'r)g 210Cm& TTs oL IeHL CaumuH &5
Distinguish allograft from autograft.
Qsd AlphEs® eag Wrsl?

What is phagocytosis ?

gorfOwredan DHSSIeLEE SN @H&eT wreneu?

What are the clinical manifestations of thalassemia ?

GO SHmeue Slem_Grimd eranmmed ereve?

What is Bubble Boy syndrome ?



24.

25.

26.

27.

28.

GOILY : gCsenib epenm eflamssensa elawefl. @apmer eflarm eramr 31 &

Note :

29.

30.

31.

15

e Wflwe Geuguiued rey sarbd ereamig wrg?

What is a database in bioinformatics ?

Gflw ool Hlevpser wreey ?

What are the advantages of solar energy ?

Clewmnens allbam L sHler Hemenoger Wireameu?
What are the advantages of artificial insemination ?

eramGLmevCarid eremuig wmg?

What is Endoscopy ?

Fand s(psg Nlenerey ETEIMITE GTeen?

What is bottle neck effect ?

Yifley - @ / SECTION - C

saigLurs eflenweflgzse Couamr(HLbd.

&g e L ssefler psfuggieusams LD &mESLIS 6T(LHEIs.

Briefly explain the importance of minerals.

uréleflw euari sar_sib gwirflinder LigBlevesar wreneu?

What are the steps involved in the preparation of bacterial culture medium ?

Quimé Caram. semLsrinler Anlil LTS 6T(HSIs.

Write the unique features of adaptive immunity.

»

Answer any'three questions including question No. 31 which is compulsory.

3636

3x5=15
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32. 2.u9f gseuadlweilen Crrésd LD 6T(HSIS.

Write the scope of Bio-informatics.

33. @ Caumul L @QamseErsdlaCu @ear Gumess CemfemaesE W6 ereueuTm)
@enumesd sellTssiiuhdEng?

How do prematic isolations prevent interspecific crosses ?

191fley - r= / SECTION - D
@Hly : stemeuCuenin @rewsi(h ellammssEnsE wlHb eflanL wefl. 2x10=20

Note : Answer any two questions.

34. @Qrszsden @awilenear UnHl s_(HepT TGS

Write an essay on composition of blood.

35. o_ffered Gw@Heereler apriGurarsafien Lefsmer aflens@s.

Explain the functions of hormones of adrenal medulla.

36. menait Goerarentd LD @ SL(HenT er(pSe]Ld.

Write an essay on fresh water management.

37. Gamfl uaneamen ®W&ED pernsamar aileurl.

Describe the méthods of poultry farming.

-00o0-




